Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA - 1’'ST / 22ND SEMESTER-EXAMINATION —-JUNE/JULY- 2012
Subject code: 320026
Subject Name: Surveying

Time: 10.30 am — 01.00 pm
Total Marks: 70

Date: 29/06/2012

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

Q.1 (a) Explain with sketches, the principles of surveying
(b) Distinguish between (any three)
(i) Plane surveying and geodetic surveying.
(i) Base line and Check line.
(iii)Whole circle bearing system and Quadratic bearing system
Q.2 (a) State and explain various types of obstacles encountered in chaining and
ranging
(b) A 20 meter chain was found to be 10 cm too long at the beginning and 30
cm too short at the end of survey work. If the distance measured by this 20
m chain is 930 meter. Calculate correct distance.
OR

(b) Work out the area by Simpson’s rules from following data
C'}";‘"rr‘zge 120 | 140 | 160 | 180 | 200 | 220 | 240
Ori?]"r‘;"te 960 | 10.20 | 9.50 | 8.40 | 9.30 | 11.30 | 12.20

Q.3 (a) Explainthe following terms( any seven)
GTS bench marks, Back sight, Level Line, Change point, Vertical axis,
Axis of telescope, Line of sight, Reduce Level.
(b) The following observations were taken with the dumpy level
0.270, 0.750, 1.620, 2.650, 0.950, 1.430, 2.440, 0.710, 1.370, 2.950.
The level was shifted after fourth and seventh reading. The first reading
was taken on a BM = 50.00 then, Prepare the page of level book, calculate
RL of each point and apply usual check.
OR
(i) Explain with sketches the reciprocal levelling.
(if) State and explain characteristics of contour line with sketches.
(b) Calculate the correction required for curvature and refraction for a
distance of 1200 m

Q3 (a)

Q.4 (a) Write short note on (1) Closing errors of traverse, (2) Local Attraction.
(b)  Find the included angles of a closed traverse ABCDA from the following:

Line Fore Bearing Back Bearing
AB 20° 200°

BC 90° 270°

CD 190° 10°

DA 278° 98°
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OR
Draw typical sketches of Prismatic Compass. Label the parts.

(i) Convert following WCB into Reduced Bearing.
270°30, 8440, 93°15, 201°10
(ii) If Reduced bearing of a line PQ is N40°W and Reduced Bearing of line
PR is S35°W find angle QPR
(iii) If FB of line AB is 30° and BB of line BC is 210° find angle ABC

(i) State the advantage and disadvantages of Plane table survey.
(if) Enlist the name of equipments and their uses in plane table survey.
Describe the various methods used for plane table survey.
OR
(i) Give conventional signs/symbols for following:
Wire fencing, brick masonry, R C C work, Railway line, Temple.

(i) State full forms of following abbreviations:

DPC.,GL.,R. L,WC,GTS.,CS.,B.S.
An area of 36 cm? on a map represents an area of 2304 m’ on the field.
What is the Scale and RF?
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